DAILY BASIS ASSIGNMENT

Date:28.05.2020 Class: VII Day: Thursday

Subject : English
Choose the correct pronouns to complete the following sentences:

1. When the little boy grabbed the lizard, tail broke offin __ hand.
a) it’s/ his
b) it/ him
c) its/his
d) its/ he’s
2. A baby learns the meaning of words as are spoken by others and lateruses _____in
sentences.
a) their/they
b) it/ them
c) they/them
d) it/them
3. The solicitor wrote a letter to Annand _____in which he asked us if we could settle the matter
between
a) me/us
b) myself / ours
c) me/we
d) mine/ our
4. As cuts it as well as he does, | always have my haircut at Johnson’s.
a) someone else’s
b) nooneelse
c) everyone
d) nobody’s
5. Ourdogis avery good bread as
features.
a) he/them
b) she/ theirs
c) that/his
d) it/ their

is the offspring of two very champion dogs and inherited
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Daily Basis assignment

Class-7 Sub- maths date- 28.05.2020

1)

2)

3)

4)

5)

Additive inverse of O is
a) 0b)-1c)1d)notdefined
Every fraction is a
a) Rational no. b) irrational no. C)integer d) whole no.
Sum of any two rational number is always a
a) Integer b)rational no. c) whole no. d) fraction
The product of 3/7 and 2/3 is
a) -6/21b)3/7c)2/3d)2/7
The rational number p/q is negative,if p and g have...... sign.
a) Both +ve b) both -ve c) different d) none of these



Daily basis assignment 33

Subject --Physics. Std --7.  Date --28 /5/ 2020

1. works on the principle of regulated flow of water
a)sundial. b) quartz clock. c) pendulum clock. d) hourglass

2.Itis a circular statistical graphic divided into different sectors as per their numerical
proportions

a) pie chart. b) bar graph. c) pictograph. d) line graph

3. Total time taken by a pendulum in one complete oscillation is called
a) time period. b) oscillation. ¢) amplitude. d) frequency

4. The length of Shadow of an object is longest at

a) 7:00 a.m. and 5:00 p.m. b) 10 a.m. and 12 noon

c) 7 a.m. and 12 noon. d) 5:00 p.m. and 12 noon

5. The national physical laboratory in New Delhi has a clock that can measure time
interval with an accuracy of

a) one tenth of a second. b) one millionth of a second

c) one thousandth of a second. d)one hundredth of a second



DAILY BASIS ASSIGNMENT

DATE: 28/05/2020 CLASS -7 DAY: THURSDAY

SUBJECT: CHEMISTRY
CHOOSE THE CORRECT MATCHING:

COLUMN- I COLUMN -1
1a. Acetic acid spinach
b. Citric acid spinach
c. Oxalic acid spinach
d. Ascorbic acid spinach
2 a. Magnesium hydroxide milk of magnesia
. b. Sodium hydroxide milk of magnesia
c. Potassium hydroxide milk of magnesia
d. Calcium hydroxide milk of magnesia
3.a. Ammonium hydroxide strong base
b. Sodium hydroxide strong base
c. Magnesium hydroxide strong base
d. Sodium carbonate strong base
4. a. Nitrates NaCL
b Chlorides NaCL
c. Carbonates NaCL
b. Sulphates NaCL
5. a. Sulphuric acid & Nitric acid Acid rain
b. Formic acid & Acetic acid Acid rain
c. Formic acid & Ascorbic acid Acid rain

d. Citric acid & Ascorbic acid Acid rain






CLASS: VII
DAILY ASSIGNMENT-33
DATE: 28.05. 2020 (Week-6)
SUBJECT: BIOLOGY
Multiple Choice Questions

1. Find out the odd among the following for an animal cell.
a) Mitochondria
b) Chloroplast
c) Ribosome
d) Nucleus

2. The microscopic view of lower side of a leaf shows numerous pores, these are
called

a) Stomata

b) Mid rib

c) Veins

d) Lamina

3. The edible saprophyte plants mostly used in Indian culinary is
a) Wild Mushroom
b) Button mushroom
c) Spirogyra
d) Penicillium

4. Which term is synonymous with producer?
a) Autotroph
b) Heterotroph
c) Consumer
d) Decomposer

5. The fertility of soil is also supplemented by which of the following organism
a) Snail
b) Leech
c) Earth worm
d) Termite

Edit with WPS Office



DBA 33 SST-7  28.5.2020

1.The oceanic crust is composed mainly of materials rich in
a) nickel and iron

b) silica and Aluminium

c) silica and magnesium

d) iron and magnesium

2. Sandstone,clay and shale are

a) metamorphic rocks

b) sedimentary rock

C) igneous rocks

d) fossil fuels

3.A Rock whose original form has been changed due to heat or pressure is called
a) sedimentary rock

b) metamorphic rocks

C) igneous rocks

d) fossil

4.The uppermost solid layer of the Earth is
a) Crust

b) core

c) mantle

d) upper mantle

5.Kilimanjaro is a

a) fold mountain

b) block mountain

¢) volcanic cone

d) young mountain



CLASS - VII SUBJECT - COMPUTER DATE: 28.05.2020 (Thu)

Q. Multiple choice questions (select the correct one):-

11 are the most commonly used type of printer

a) Inkjet Printer b) Laser Printer c)CPU d) None of these

12, is a type of printer that utilizes a laser beam to produce an image

a) Inkjet Printer b) Laser Printer c)Dot matrix printer  d) None of these
130 is transferred to the paper through the combination of heat and pressure
a) MICR b) Toner c) Light d) None of these
14, is divided into three parts

a) MICR b) Printer c) CPU d) None of these

15. Processing unit is commonly known as.....................
a)CPU b)ATMs c) MICR d) None of these



